Yo=Y sIlMZE ABHASAA dulo HEII =N
ermit | asoiE (ool | aaa | R e sk
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1. ATAH(04~'06, A7 =)

7} AR EAANE FoA R (5he] © %)
137 5 A} A T-N P20O5 K20 CaO MgO

o] et 0.54 0.06 0.09 1.17 0.27
27 7)) 3} A] 0.19 0.31 0.16 14.60 0.71

A A A 3.83 3.07 0.66 9.00 0.82

= = 0.06 0.05 0.17 12.88 14.75

Y 5 5.22 2.49 1.13 0.82 0.86

o = .57 2.37 1.11 1.87 0.31

= = 4.67 19.39 0.17 10.45 0.54

= 3] 0.04 40.06 0.03 15.22 1.29

QAo 6.54 1.54 0.82 2.28 0.38

a = 5.90 1.48 1.98 0.32 0.42
Zsh A 0.03 0.12 0.25 0.57 0.29
A2 vlg i 0.04 0.12 2.71 12.11 0.37
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. XIS s A v A e (9] : %)
21273 5 A A NaxO Fe Zn Mn Cu
o 0.10 0.45 0 0 0.002
2/d ol &4 0.48 0.21 0.01 0.03 0.002
A A 4 1.27 0.08 0.01 0.01 0.004
= s 0.02 0.29 0 0.02 0
A &5 0.02 0.01 0.01 0.01 0.004
o] it 0.54 0.11 0 0.01 0.005
= i 0.89 0.01 0.01 0 0
= 3] 0.78 0.16 0.03 0.01 0.002
SR KR 1.05 0.15 0.03 0.01 0.001
= s 0.02 0.01 0.01 0 0
< Sp g4 0.08 0.59 0 0.03 0
A 2 rbg 0.17 0.20 0 0.01 0.003
U I8 F AR Az Auje] FaAE st 54 (&9 %)
o vj pH T-N P20s5 K0 CaO MgO
o] gkl 29~34 1| 0.01~0.03] 0~0.002 | 0.03~0.04| 0.06~0.09] 0.01~0.02
2 Y | 57~6.0 | 0.02~0.05/0.01~0.012| 0.05~0.08| 0.26~0.35] 0.02~0.03
A A oA 4.2~54 1 0.08~0.16] 0.04~0.18| 0.13~0.19] 0.38~0.46| 0.05~0.11
St 5.3~6.5| 0.02~0.04 0 0.05~0.07| 0.37~0.40{ 0.12~0.15
Y 3.5~4.3 | 0.14~0.18| 0.40~0.43| 0.25~0.28| 0.06~0.10| 0.09~0.10
o & 3.7~4.3| 0.27~0.33] 0.27~0.31] 0.18~0.22| 0.10~0.12/0.04~0.041
== 41~4.5 | 0.18~0.20| 0.22~0.34| 0.08~0.11| 0.09~0.19| 0.05~0.06
=3 H 3.8~3.9 0.02 0.18~0.84| 0.07~0.08| 0.08~0.26| 0.13~0.14
Aot | 36~3.7] 0.22~0.25 0.18~0.20] 0.26~0.28| 0.12~0.13| 0.03~0.04
T 34~38 | 0.11~0.15] 0.07~0.10, 0.25~0.36] 0.01~0.05 0.03~0.04
Fepukd ol | 28~29 | 0.01~0.03] 0~0.005 | 0.05~0.06| 0.02~0.04/0.01~0.011
AZvlEEd | 26~2.8 | 0.02~0.03] 0~0.003 | 0.08~0.23| 0.01~0.02[ 0~0.01
x dg|stetd @ 2N 52|H0 HEE S 1kgS &80t 722 XI= XZAret 4& Y
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ok IS F AR Az Auje] n R 3t 54 (&1 - mg/2)
o vj NaxO B Fe Zn Mn Cu

| &k 0.03~0.05 04~5 12~412 0~12 0~11 0~157
2 | 0.04~006] 3~11 71~503 6~15 27~197 0
A7 A Y 0.13~0.23] 0.2~55 | 69~143 | 0~26 3~32 0
L 0.02~0.04) 0~8 14~194 0~20 47~126 0
G 0.02~0.03] 3~6 9~60 12~19 6~84 0
o & A 0.13~0.14) 0~3 129~491 | 0~16 3~66 0
=i 0.12~0.15] 0~3 37~90 0~31 2~5 0
= 3] 011~0.13] 0.5~7 | 66~349 | 12~37 2~6 0
Qo] 0.11~0.13) 05~12 | 101~404 | 0~29 13~26 0
T 0.02~0.04| 04~7 | 40~107 | 0~17 6~10 0
Tk ol 1 0.03~0.04] 01~3 |102~793| 0~18 6~523 0
AZukEEd | 0.03~0.04] 0~4 38~2155| 0~15 o~46 0

# g|steld ¢ =N 52IH0 HE-E s A 1kgS Egotd 722 XI= XZAret 4& Y
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np NG FAA AR AE 6045 FoAHE] W

(9] - mg/2)

:rL 'Hi‘ T-N PZO5 KQO CaO MgO Nazo
2z 300 2 696 0 0 274
Bz (A% 609%) 250 0 644 20 0 260
o] gk} 200 2 444 647 159 373
o gkl (A% 60Y€F) 210 0 406 672 144 360
2] ol 3}A] o 300 124 it 3,481 277 021
adsfsiiel (Ax 609 | 290 604 690 7,013 237 477
A A 800 1,848 1,291 4642 503 1264
ARAN (Ax 609%) 330 1,764 1,158 3,122 432 11A4
St 200 5 710 3,976 1,391 210
il (A% 609%) 210 5 651 5,135 1,319 24
A5l 1,400 4,016 2,829 o597 1,032 259
AL B (A2 60UF) 1,160 3,914 2,603 928 929 246
o] & 2,700 2,135 2,006 1,173 390 1,300
o (A= 604%) 2,310 2,617 1,941 1,223 353 1,244
= 1,800 3,449 1,047 1,882 o34 1,235
= (Ax 609%) 1,880 3,376 926 1,607 491 1,128
= 3] 200 8,390 07 2,638 1,309 1,098
=34 (A= 6095) 210 4917 660 2,366 1,231 1,048
ERA bl 2,200 1,798 2,015 1,245 334 1,058
QAo (A= 609 | 2470 1,586 2,402 1,104 328 993
T 1,100 26 3,064 157 293 231
Tl (A= 609%) 1,240 724 3,230 204 296 248
F SRk ol 300 24 618 208 103 337
FopdkAel (Ax 609 | 220 15 492 249 39 319
A2 nEEof 300 A 2,308 114 87 205
AlZrhrtl (A2 60€%)] 230 20 927 121 17 258
2. 4 8

O AFAEAAE Bz Etoln] FRIBE A4

O AZF 60U 24T E Agletan Fassl g0l Abgel Tbsd

_81_





